71838 A4S WA
719 A R Rk w S 9% () - )
2 o 1=]
gopzg 22| B3| 2% Aol %A% e N 2018 (A) | 20179(®B) | F7HA-B)
37 27,808,278 27,068,876 739,402
s 27,808,278 27,068,876 739,402
Lol EZEFS 26,340,928 24,304,004 2,036,924
AAALL L 1,362,602 1,270,418 92,184
249273 4,908 4,908 0
FPA=R Y 4,908 4,908 0
1. A GA-E A5 4,908 4,908 0
7h S gAd 2,734
1) $94x% 210-01 |19,0009 x50%= 950
2) Ape A = 210-01 |4,0009 X 50%= 200
3) 9uE 210-01 |14,0009 x 3v} x 24| 7k= 84
4) A1) 210-04 |8,000¢ x 507 = 400
5) 7 ke (YR 210-06 |100,0009 x 2w = 200
6) &2 3 230-02 15,0009 X607 = 900
L R R R S ey 2,174
1) 8= 210-01 |20,0009 x 19%= 380
2) Az A 2 210—-01 |4,000€ x50%= 200
3) g 210-01 |14,000€ X 3vj x 24| 7k= 84
4) 2] 210-04 |8,0009 x 40% = 320
5) Zk2H] 210-04 |3,0009 x40 x 28] = 240
6) AT (LR 210-06 |100,0009 x 214 = 200
7) &) 3 230-02 |15,0009 x50 = 750
AT F7E 5 7,685 6,445 1,240
AT FAdATA 4 7,685 6,445 1,240
L ARI T s 6,085 4,845 1,240
Zh A FAA AT 3,845
1) $9e= 210-01 |20,0009 x 4% = 80
2) 7F2AIn 210-04 |3,0004€ 1409 = 420
3) A 210-15 20,0009 % 140 = 2,800
1) 893 230-02 |15,0009 x 13%= 195
5) AR (5E) 350
71 7|5 210-06 |200,00091 % 17 = 200
B - fOlUEFERS - AHAALE - APTTAGBLE - AYFFAATAL




7|88 &5 9A
713y AgE e Rt S Y (k9] : x4
gopzg 22| B3| 2% Aol %A REXE 20184 (A) | 2017H(B) | F7HA-B)

) 3 210—06 |150,0009 X 17 X 14| 7k= 150

v At duSEd 1,500

1) w47 210-01 |250,0009 X 6% = 1,500

= S R RS R R A § 740

1) A (dnh) 590

7 7)1& 210-06 |160,0009 x 1 x 28] = 320

W) %3 210-06 90,0009 X 19 X 34 7k= 270

2) 91w 210-01 |10,0009 x 31 X 5A] 7k= 150
2. A F TR R ASF 1,600 1,600

b S Rl A B S A 1,600

1) &7n 210-01 |800,000¢ x 2% = 1,600
T YLAARE 5,750 5,750
AR IR U 1,180 1,180
1. aFFEA 1,180 1,180

7. 2 A RA 1,180

1) $98= 210-01 |20,0009 x 6% x 28] = 240

9) A=tk 210-06 80,0004 x4 x 23] = 640

3) 93 230-02 |15,0009 x 109 x 28] = 300
TAJAEE 4,570 4,570
1. JAHAE) 128+ 1,230 1,230

7F LA RAALS A F] 1,230

1) FA g 210-06 |80,000¢ x 378 x 48] = 960

2) ¥9]3 230-02 |15,0009 x99 x 28] = 270
2. A4S MEHE 7} 1,070 1,070

7h w5 7NgE vt 1,070

1) $98=% 210-01 |20,0009 X 6% = 120

2) A 210—06 [80,0009 x5 x 23] = 800

3) 393 230-02 |15,0009 x 10 = 150
3. LAJMIGFF2 2,270 2,270

7F WAARJMAY - FH 2,270

1) $98x 210-01 |20,0009 X 20%= 400

2) A=A 2 210-01 |7,0009 X 50% x 28] = 700
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e AEZEY A
71y e e Rl w4 9% (k1 = 22l
A [e) =]
gopzg 22| B3| 2% Aol %A% e N 2018 (A) | 20179(®B) | F7HA-B)
3) AEST 210-06 40,0009 x 64 x 43]= 960
4) o3 230-02 15,0009 X 7% x 28] = 210
A F-dAAEE 740 420 320
A3 FAAAEE 740 420 320
1 ARTF4AAEGA 4 740 420 320
7F QIAFS] 21 3] 740
1) ZA e 210—-06 80,0009 X 17 x 43| = 320
2) 993 230-02 |15,00090 X 77 x 48] = 420
0 A F2 QA 2] 4,130 4,140 A10
H) A 72 QAL 7] 4,130 4,140 A10
IR R R R e 530 530 0
7h S A AL A 3 530
1) @Ak 210-06 |80,000¢ X 273 x 28] = 320
2) ¥ ]3] 230-02 |15,0009 X 77 x 23] = 210
2. B TREAJA LA 3,600 3,610 A10
7h AR 1,540
1) $a3g= 210-01 20,0009 x 12%= 240
9) A8 210-15 |8,8009 x50 = 440
3) <3 230-02 15,0009 X 7% x 28] = 210
4) 28] 310-01 8,000 x50 = 400
5) ZHAFrE (L) 250
71 7] 310-01 |160,000¢1 %19 = 160
) =3 310-01 90,0009 X 17 X 1A] k= 90
. FASARA 2,060
1) $98= 210-01 20,0009 x 12%= 240
2) A 210-15 |9,0009 x 80 = 720
3) &9 3 230-02 |15,00091 X 77 x 28] = 210
4) A 310-01 |8,000¢x80% = 640
5) At (Lnh) 250
71 7= 310-01 |160,00091x 173 = 160
) 23 310-01 90,0009 X 17 X 1A 7k= 90
A JEX A} W= 1,339,389 1,248,755 90,634




71389 Ae R ERtnSA 9 (k9] - A 9)
| [e) A=}
Bopnm 32 ?}g jg Ape el B A& 20184 (A) | 20174 (B) | =7(A-B)
22 ¢ E 22 1,339,389 1,248,755 90,634
1. A% 5353LY 3,000 3,000 0
7 A essdsA Y 240-01 |1,500,0009 x 28] = 3,000
2. 134 Eg 3 An) 24,000 0 24,000
7h. WA A A 24,000
1) #AF A 210-07 |400,0009 x 24 th x 129 = 9,600
2) TAFS 2} (F-9ro3A)) 620—03 |400,0009 x 34t} x 12¢ = 14,400
3. AR QAo AR R Y 1,312,389 1,245,755 66,634
7h WA AR B A 1,312,389
D 7135 110-04 |1,613,6009 %374 x129= 716,439
2) A7 LE I 110-04 |348,2409 <379 x12¢¥= 154,620
3) VESG 110-04 [100,0009 x 237 x 129 = 27,600
4) AP 8he| B F5ok 110-04 |297,3309 X 9% x 43%7]= 10,704
5) WEK ZH]| 110-04 60,0009 X374 x129= 26,640
6) F2n) 110-04 [130,0009 x 374 x 129 = 57,720
7) A5 110-04 |1,255,8309 %379 = 46,466
8) WA F 7] 110-04 |500,000¢ X 37 x 23] = 37,000
9) A 7)Aol 110-04 |500,000¢ x 37 = 18,500
10) &8 2 x)n) 240-02 |400,0009 x 377 = 14,800
11) g4+ 320-12 |2,594,1609 x 379 = 95,984
12) =l 320-12 |1,280,4009 x 379 = 47,375
13) A7 R3 320-12 |870,6709 x 374 = 32,215
14) =37 Q9K 3 320—12 |57,0509 %37 = 2,111
15) 2815 320-12 [426,8109%x37%= 15,792
16) AHA| 2.8 320-12 |227,6409 %374 = 8,423
AF-FL5TFEXY 956,129 1,165,565 £209,436
TS HZMNLL 118,718 123,218 24,500
R ) B 97,060 101,560 24,500
1. 252E5RFIAF 11,490 11,490 0
7}, nS g A 11,490
1) $9¢= 210-01 |39,2509 X 16% x53]= 3,140
C2) AaAR 210-01 |8,0009 x 100%-= 800
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B
g AR E-A& AEUe 20189 (A) | 20179 (B) (A-B)
/\]—(ﬁ = = = = gl gl
3) Y8 210-01 |14,0009 x 37} X 20| 3k= 840
4) A 210-04 |8,000¢1 X301 x 23] = 480
5) 7+21H) 210-04 |3,000€ x 30 x 28] = 180
6) A (LHh) 1,500
7h 7)1 210-06 |100,000¢l X 27 x 53] = 1,000
) x3} 210-06 |50,0009) X 21 X 5A] 7k= 500
7) AFA 2= 210—-07 |700,000€ x 1 ¢} x 23] = 1,400
8) #| & H| 210-15 |25,0009 x30™ x33]= 2,250
9) ¥93] 230—-02 |15,0009) X 307 x 23] = 900
2. FTALGAZLFAT 2,570 2,570 0
7w A 2T
1) S98= 210-01 |20,0009 X 10% X 53] = 1,000
2) A=A = 210-01 |8,0009 X 50%= 400
3) dus 210—-01 |14,0009) X 31] X 10A] k= 420
4) A (dyh) 750
7} 7] 8 210-06 |100,000€l X 17 x 53] = 500
W) =3} 210—-06 |50,0009 X 17 X 5] 7k= 250
3. A5 AY A A5 Y 83,000 87,500 24,500
7]_ 5]_——,&; §]—X] < 9,000
1) 258w 620—-03 |1,500,0009 X 431 6,000
2) Faw 620—-03 |1,500,0009 x 21 3,000
L. g soke] g 74,000
1) 2538w 620-03 |2,000,0009 x 228 = 44,000
2) 8w 30,000
7hH 2 620—-03 |2,500,000¢ x 8% = 20,000
) AHY 620—10 |2,500,0009 x 4% = 10,000
A ANE R F 11,118 11,118 0
1. A3 B A S g A AR F 11,118 11,118 0
7h ARE A o S AR R 9,850
1) S98= 210-01 |20,0009 X 20%= 400
2) AFaA = 210-01 |7,0009l X 425% x 23] = 5,950
3) AESY 210—-06 40,0009 X 107 x 83] = 3,200
Sug - uF-gEdeAd - wSAENEY - wAARNER




Z1#E AEdEWSA
AF Y e == A= AEUe 2018 (A) | 2017H(B)
4) 2] 3) 230-02 [15,0009 X107 x 23] = 300
o AFE 7 O S A 281 1,268
1) $98% 210-01 20,0009 x 25% = 500
2) " 210-01 [14,000€ x 31 X 44| 7k= 168
3) A (LHb) 600
7hH 71E 210—-06 |100,000¢ x 29 x 23] = 400
W z3} 210-06 |50,000¢ x 27 x 24 7k= 200
R 8,000 8,000
1. 34 B BEA L 8,000 8,000
7h o)A w31 A 8,000
1) 2538w 240-01 |1,000,0009 x 48 = 4,000
2) & 240-01 |1,000,0009 x 2% = 2,000
3) 158w 240-01 |1,000,000¢ x 2% = 2,000
S R 2,540 2,540
IR TR 2,540 2,540
7} st m et R A o ES) 2.8 2,540
1) $98= 210-01 |29,0009 X 10¥= 290
2) Ak (L) 600
71 7= 210-06 |100,0009 x 178 x 58] = 500
) =3 210-06 |50,0009 X 17 x 24 7k= 100
3) 2n] 210-04 |8,0009 309 x 58] = 1,200
4) 7HAH) 210-04 |3,000€ X307 x 58] = 450
67,682 67,682
=9 67,682 67,682
1. g2 67,682 67,682
7h AN F A e A 2,682
1) £98=% 210-01 |16,0009x10&= 160
2) d1xs 210—01 |14,0009 X 3v X 6A]3F= 252
3) 2An] 310-01 |8,0009 x 409 = 320
1) 7+211) 310-01 |3,0009 x 407 = 120
5) Ak (Lnh) 1,830
71 7|5 310-01 |160,0009) % 3= 480




718E AEZEy A
7137 ¢ AR RO A 214 (7 : A 4)
Z (e} =]
gopzg 22| B3| 2% Aol %A% e N 2018 (A) | 20179(®B) | F7HA-B)
) =3} 310-01 |90,0009 x 3 x 5] 7F= 1,350
o 28t s 3] 65,000
1) £98= 210-01 |10,0009 x5%= 50
2) gol3 230-02 |15,000€ %108 = 150
3) _‘%Oé}j] 64,800
b Zstu 62003 |10,800,000€ X 63= 64,800
TAA AR LT 5,674 6,224 A550
A=A ZX] Y 5,674 6,224 AB50
1. AXE1R3 2,415 2,415 0
7k w5 ALY g 2415
1) AXESFG 210-06 |70,00091 %309 = 2,100
2) 2H] 210-04 |8,0009 x40 = 315
2. RARAEA A 3,259 3,809 £550
7h A A A3 2,459
1) £98= 210-01 |30,000¢ x 13%F x 28] = 780
2) YuE 210-01 [14,0009 x 31| X 2| 7}= 34
3) <uky) 210-04 40,0009 x 97 x 23] = 720
4) A (L) 210-06 |100,0009 x 27 = 200
5) &9 3| 230-02 |15,00091 X 97 x 58] = 675
U AR EY 800
1) ZS7n 210-01 |100,0009 x 8% = 800
SolaSAE 6,060 6,060 0
solmax 9 6,060 6,060 0
1 HAA2 43 LGAAARNLRFUA = 3,560 3,560 0
7h A QAR 2,260
1) 992 210-01 [16,0009 x10%= 160
2) 24 210-04 [8,0009 X307 = 240
3) 7F21H] 210-04 |3,0009 x 309 = 90
4) A5 (LD 250
71 7= 210-06 |160,00091 % 173 = 160
W) Z3 210-06 90,0009 x 17 x 1A 3t= 90
5) XA at= 210-07 |500,00091 x 1t = 500
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71389 Ae R ERtnSA 9 (k9] - d4d
2 o 1=]
gopzg 22| B3| 2% Aol %A ENE 20184 (A) | 2017H(B) | F7HA-B)
6) A3 n| 210—15 30,0009 x 307 = 900
7) &3 230-02 |15,0009 x 89 = 120
AP A3+ 300
1) $£98= 210—-01 |20,0009 X 3% = 60
2) FHA 5o 210—06 |80,0009 < 3% = 240
o A & wALEok 1,000
1) 2Ex9 240—01 |1,000,0009 x 1¢l= 1,000
2. FXAFAA LA 2,500 2,500 0
R R R e A i P K| 210-01 |250,00091 X 10%= 2,500
ELFI{AET 70,024 199,917 A129,893
ELgSed 1,300 1,740 2440
1. E5 %899 9389 1,300 1,740 2440
7} 8= 210-01 |20,0009 x5%= 100
U, A 210—-06 |80,000¢ x 31 x 48] = 960
t}. ol 3 230-02 |15,0009 x 87 x 28] = 240
e TR = ] 48,899 59,272 210,373
1. E S QAH S 48,899 59,272 A10,373
7 A ST S A LAY 48,899
1) T2 1WA 26,850
7hH AT E Y 210-12 40,0009 X 327 X 1238 = 15,360
) TEAH A 210—12 40,0009 X 347 x 43| = 5,440
h kA 210—07 |600,000€ x 6tf= 3,600
) TYAF T 1ML 210—15 25,0009 %37 x 23] = 1,850
u}) &R E A2 210-15 |5,0009 x1207)= 600
2) 7189 4,500
7hH &9 8% 210-01 [20,0009 X 20% X 103]= 4,000
W w7 A A 210—09 |100,000€ X 5%= 500
3) S EA A AE ofH| 9,180
7h &3] 220—01 20,0009 %3 x1533] = 9,180
4) A=k () 4,740
7h 71& 310-01 |160,0009 x 127 X 23] = 3,840
) =3 310—01 [90,000€ X 10 X 1A]7k= 900
P& - FOARRFERE — BF-SFHREAL - 55GVF - EFagRFtEA Y




HE Rl A 43 (9] - 212
o 1=]
?};3 fg At & E=A= 2= < 2018d(A) | 20179 (®B) | SH(A-B)
5) 13 7}k29] o 3] 1,600
b g E 210-01 |20,0009 x5%= 100
W) AAFA T 210—-11 |100,0009 X 15%= 1,500
6) WIZFEAFE R 2,029
O 310-01 [8,0009 %185 = 1,480
W) 7-44) 310-01 |3,0009 x 185 = 549
EZgSE2)x9 19,825 17,820 2,005
1. X BA-9 19,825 17,820 2,005
7t S5 A A A SARE Y 19,825
1) Q1AH] 110-03 25,0009 X 1% X591k x 102 = 14,750
2) FAn) 110-03 48,0009 %1% x109= 480
3) WA F7H] 110-03 |1,000,000€ x 1= 1,000
4) %3] o9n 22001 |20,000€ X 17 X 1403]= 2,800
5) ZFE3E 2]n) 240-02 |400,0009 x 17 = 400
6) AFA K3 320-13 |15,750,0009 X 1% = 158
7) LR 320-13 |15,750,0009 X 1.5%= 237
DERS Y 235,718 325,260 289,542
Yol TAFL B Z AL 87,750 175,500 87,750
1. 9ol B 2 7 AFS-S 550 2,350 21,800
7h AN A 550
1) wAH] 210-01 |30,00091 X 10%= 300
2) Ak (g 250
71 7|8 210-06 |160,0009 % 1= 160
W) 3} 210-06 |90,000¢ x 14]7}= 90
2. ol B Z WA AN 87,200 173,150 285,950
7}, K2 69,600
D 1+55 110-03 [2,700,0009 x 34 x 69 = 48,600
2) 157 110-03 2,500,000 x 178 x 69 = 15,000
3) Aol e 110-03 | 100,0009 x 47 x 64 = 2,400
4) o3| 2E e 110-03 150,000 x 47 x 69 = 3,600
U, Feloa g 110-03 400,0009 x 47 x 69 = 9,600
t} a2 e 2,000

D55 BEAY — 9 FolwE — Aol WAL B AL 9




)
A S E=A= 2= < 20189 (A) | 20179 (B (A-B)

1) A A kR AN 210—15 2,000,000 x 1% = 2,000
eh, Al 6,000
1) = 320—13 |69,600,000¢ X 4.5%= 3,128
2) A7 R 3 320-13 169,600,000 % 3.12%= 2,172
3) wo1&7] Q ok &) 320—13 12,172,000 X 6.55%= 143
4) AFA] R F 320-13 |69,600,000€ x0.8%= 557

ARLSEEXY 147,968 149,760 21,792

1. gojAE T2 1A 147,968 149,760 21,792
7t AT Y 10,368
1) £98=% 210-01 |40,0009 x21%= 840
2) 1 AjH] 210—01 40,0009 x 40%-= 1,600
3) Yug 210-01 10,0009 x 31 X 524 k= 1,560
4) ZAArE (R YA 5) 210-06 30,0009 X 6% x 134 3k= 2,340
5) A3n) 210-12 33,0009 x40 = 1,320
6) A1) 310-01 8,000 x40% X 73] = 2,240
7) 7+21n) 310-01 13,0009 x40 X 43]= 468
U}, sh 3] 9] 9] o) 7 T o 67.600
1) 9% 210-01 |30,0009 x 307 = 900
2) A4 -Sn] 210-13 |1,910,0009 x 30 = 57,300
3) A& AAF= 2] ogH] 220-02 3,500,000 x 29 = 7,000
4) ¥ 9] 3 230-02 |15,0009 x 8% x 23] = 240
5) WEH] 310-01 |50,0009 x 307 = 1,500
6) A1) 310-01 |8,000€ x 307 x 28] = 480
7) ZkAH] 310-01 |3,0009 x 307 x 28] = 180
L= A R e e e T 70,000
1) S98x% 210—01 |20,0009 X 7% x 23] = 280
2) 393 230-02 |15,0009 %89 = 120
3) g A aln] 620-03 |5,800,0009 x 1231 = 69,600

79,639 77,465 2,174

B85S 7RG A 3} 43,844 41,670 2,174

1. A EALS- S 43,844 40,054 3,790
7F. 28 AR 7 1) 43,324

W8 - @S- REA L - HHLRBYHAD - oS98 A8 10




Abej el L= REpH -1 AE 20189 (A) | 20179 (B)

D) 718+ 110-04 |1,602,000€ X 13 x 129 = 19,224
2) AT LHE 7 AE 110-04 |405,0009 X194 x 129 = 4,860
3) &S 110-04 [120,0009 x 19 x12¢¥= 1,440
4) W% R ZH| 110-04 60,0009 X1 x12¥= 720
5) F24H] 110-04 |130,0009 x 17 x129= 1,560
6) Ax}4oF 110-04 |68,5509 x 13 X209 = 1,371
7) dATESFG 110-04 |11,8709 x 19 x440A13k= 5,223
8) A7 o]+ 110-04 |250,000¢) % 11 X 23] = 500
9) HAF7H 110-04 |500,0009 % 1 x 23] = 1,000
10) 23 24| 240-02 |400,0009 x 14 = 400
11) §4+&+ 320—12 |3,348,0009 x 19 = 3,348
12) = 320—12 |36,293,1009 X 4.5%= 1,634
13) A7 w3 320—12 |36,293,100€9 X 3.12%= 1,133
14) =20#7] o okn ¥ 320—12 |1,133,0009¥ X 6.55%= 75
15) 1 E&x53¥ 320—12 |36,293,1009 X 1.5%= 545
16) AHA R & 320—12 |36,293,1009 X 0.8%= 291
L}, 7} 8HA KL ALo H) 220-01 |20,0009 x 17 x 263]= 520

A7t A 752 Y 35,795 35,795

1. HtETLA 03 2,795 2,795
7}, #7320 3] 2,795
1) o9& 210-01 [29,5009 X 20% x 28] = 1,180
2) A4 210-04 |8,0009 X207 = 160
3) WA 1,080
7 71 210-06 40,0009 x 9% x 23]= 720
) %3 210-06 20,0009 x 9 X 2] 3t= 360
4) 93 230-02 |15,0009 x 25 = 375

2. 330 {F7 33,000 33,000
7k e A A7 A o .
1) $d&= 210-01 |20,0009 X 15% x53]= 1,500
2) 393 230-02 |15,0009 x 207 = 300
3) Z+2m] 310-01 |3,0009 80 x 53] = 1,200
b A Y E 30,000

11




719 A& e A
71389 Ae R ERtnSA 9 (k] - xd9)
] A o H
gopzg 22| B3| 2% NERE = BESE 20184(A) | 20179(B) | Z4(A-B)
D AeAdgdsAd 28,000
7} 258 620—03 1,400,000 X 103= 14,000
) Fskw 620-03 |1,400,000€ X 103 = 14,000
2) BAAT S uAAT 2,000
71 9 8% 210-01 |20,0009 X 10%= 200
) Ak (AR 500
(1) 71& 210—06 |160,000¢ x 27 = 320
(2) %3} 210—06 90,0009 X 274 X 1A 3k= 180
oh x}pEFl At e 210—07 |500,000€ x 1= 500
2h) A& 210—15 19,0009 x40 = 360
ub) A 210-04 |8,000¢ x40% = 320
Hh) 7121 8] 210-04 |3,0009 x40 = 120
AL oS3} 110,858 112,988 £2,130
S AR Y 40,858 42,988 22,130
1. A8 2S5 HA LY 40,858 42,988 £2,130
7}, Y & B3 39,390
1) S98=% 210-01 |34,7809x10%F % 103]= 3,478
2) A= 210-01 |1,530€1% 1,300 x53]= 9,912
3) A 310—01 |40,000€ X 59 X 1302 7= 26,000
U Al AR S 1,468
1) 982 210-01 |20,0009 x 407 = 800
2) A=A 2 210-01 |5,000¢] X 40%-= 200
3) Yug 210—01 |14,00091 X 3v X 4] 3}= 168
4) A (duh) 300
7h 71 210—-06 |100,000¢ x 2% = 200
) %3 210—06 50,0009 X 2% X 1 A|3}= 100
AN EEXY 70,000 70,000 0
L SAFELY 70,000 70,000 0
7t FATEEY 50,000
1) 2538w 620—-03 |400,000¢ x 70 = 28,000
2) =& 22,000
7hH 9 620—03 |400,000¢ x 457 = 18,000
05— fOlRRF SRS - RF-F285AY - AGuGUAE - AF S EZA D
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71838 A4S WA
719 - AR ER-m 5% 9% (el - de
2 o 1=]
Bop By ﬁf‘j ?};3 jg AFgiu el o= RERE 20189(A) | 20179(B) | ER(A-B)
) A 620—-10 |400,000€ %104 = 4,000
U AEASAASA AL 20,000
1) 2%8kw 620—03 |4,000,0009 X 13.= 4,000
9) =& 16,000
7h 9 620-03 4,000,0009 x 437.= 16,000
EWgEx Y 15,835 15,535 300
23l & nS843) 14,940 14,640 300
L. Ash3e 8,640 8,640 0
7h S vlEddd gl 2,290
1) $9&= 210—01 |20,0009 X 25% x 28] = 1,000
2) AT 210-06 |40,0009 x 39 x 23] = 240
3) Fel A 210-07 600,000 x 1t}= 600
4) ¥2J3] 23002 |15,0009 X 157 x 23] = 450
L Al Abu R o] /o] 5 2 A 6,350
1) $ogx 210-01 |200,0009 X 20% = 4,000
2) AT 240
7} 7B 210-06 |40,0009 x 49 = 160
W) z3 210-06 |20,0009 x 47 = 80
3) Al AR 210-07 |1,000,000¢ X 13]= 1.000
1) ¥ <3 230-02 |15,0009 x 209 = 300
5) Ay 310-01 |8,0009x30™ = 240
6) 7+ 310-01 |3,0009 X190 = 570
2. dsgsAL 2,000 2,000 0
7h E3teEAd 2 2,000
1) g2y gLy 210-01 |20,0009 X 20 x53]= 2,000
3. o do| G| I A=A 4,300 4,000 300
7} oA ol YA} 210—01 |100,00091 X 23%= 2,300
L g oAt 2,000
) Lo gx 210-01 |50,0009 X 20%= 1,000
2) i}aﬂﬂi}g 210-07 |500,0009 x 2t]= 1,000
gEsdEgo|gdEans4d S d 895 895 0
1. ‘:H:ﬂ‘;l?r_tﬂjé W52 A7 3} 895 895 0

1G-SR - SEBEAY

- S ol g R NE A w4 4
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14

EEelw 5293 A9
?gq RES Apely ol =g AbE ol 20189 (A) | 20179 (B) (A=B)
M| A
7k ol g el 2a] ) 5 895
1) $98= 210-01 |20,00091 X 20%= 400
2) A 300
7h 7)1 210—06 [40,0009 x 5% = 200
W) 23 210-06 |20,0009 x5%= 100
3) 493 230-02 |15,0009 x84 = 120
4) 7F21) 310-01 |3,00091 %259 = 7
SBPBA = 8,235 4,337 3,898
PP EA A A 6,042 0 6,042
1. 3gA #e 6,042 0 6,042
7t A A S 2,232
1) An] 210-04 |8,000¢ x 88 = 704
2) 7-211) 210-04 |3,0009 x 887 = 264
3) A= 210-07 |500,0009 x 2t} = 1,000
4) A& n) 210-15 |3,0009 x 884 = 264
b, S R QHH 9] 0810
1) TEJASHE T 620-03 |1,615,0009 x 2= 3,230
2) Sty E e Pesky 620-03 |580,0009¢ x 131= 580
EEEEE R 2,193 s ezl
1. S Z ot A% 2 %195 2193 0
7t St g}l 993
1) L99= 210-01 20,0009 x 15%= 300
2) duE 210-01 |14,000¢ X 31} x 4] 7= 168
3) A (L) 300
71 7B 210—06 |100,0009 %1% x 23] = 200
W) 27 210-06 |50,0009 x 17 x 24 7k= 100
4) 893 230-02 15,0009 x 157 = 225
. e aA] = 1,200
1) $98= 210-01 |20,000€ X 15% x 23] = 600
2) wEHANTAZ L 210-02 25,0009 x12¥= 300
3) 393 230-02 |15,0009x 107 x 23] = 300
SEEsAd 186,316 169,041 17,275
W - fOLETERE - B - REA Y - TAYTREA




7188 A& 2 A
713y AgE e Rt S Y (2] = 9
o) 1=
gopzg 22| B3| 2% Aol %A REXE 20184 (A) | 2017H(B) | F7HA-B)

AT E 2] 9 186,316 169,041 17,275
1. §(Wee) Z2AELZY 186,316 169,041 17,275

7}, Q1A H] 118,272

1) A3 EA 89,107

7H 715 110-04 [1,977,91090 %34 x129= 71,205

W) dxpg 110-04 65,1209 % 3% x 169 = 3,126

o) AR FY 110-04 |12,2109 X3 x 1204]3t= 4,396

2}) 221 110-04 130,000 x3% x 12¥= 4,680

uh) 714 110-04 |250,0009 x 3 x 28] = 1,500

v}) W4 & 7] 110-04 |500,0009 X 31 x 23] = 3,000

A}) EEEE E )] 240-02 |400,0009 x 3% = 1,200

2) AF3]EA A} 29,165

7H 7= 110-04 |1,787,6709 x 1 x 129 = 21,452

W) dxpg 110-04 63,8009 %1% x 159 = 957

o AA RS 110-04 11,9709 X 1 X 12041 3k= 1,436

) F21) 110-04 130,000 x 1% x 12¢= 1,560

u}) A7) Abo] = 110-04 2500009 x 11 x 23] = 500

v WA F ) 110-04 500,000 x 17 x 28] = 1,000

AP A7) LRI A 110-04 |75,0008 x 18 x12€ = 900

oh) =5 110-04 20,0009 %17 x 129 = 240

) WE K ZH) 110-04 60,0009 %17 x 129 = 720

2}) "k E ) 240-02 |400,0009 % 1= 400

AR 11,974

1) ZHldE 320—-12 |118,272,0009 x4.5%= 5,322

2) AR 320-12 [118,272,0009 X 3.12%= 3,690

3) x91A7] QokR 3 320-12 |3,690,000¢ X 6.55%= 242

4) 1§13 320-12 |118,272,0009 X 1.5%= 1,774

5) AbA 5.3 320-12 |118,272,0009 X 0.8%= 946

o H2 = 13,070

1) AEAFA} 320-12 |3,566,7509 x 3% = 10,700

2) A}3]E=] A 32012 |2,369,7709 x 1% = 2,370

2}, AEA ol 8 423 o B 220-01 |20,0009 x 4™ x 1203]= 9,600

15




7138 HEFJINSAAH (k9] - 4D
o 1=]
gopzg 22| B3| 2% Aol %A REXE 20184 (A) | 2017H(B) | F7HA-B)

v}, -9l H) 33,400

1) 9832 210-01 |20,000¢ X 18% % 103]= 3,600

2) HYE L= 210-01 |10,0009 X 20%= 200

3) & LT LAA 210-02 |250,0009x12¢9= 3,000

4) I gL on] 210-12 2,600,000 x 53] = 13,000

5) A& A AR] 210-12 |600,000¢ x13]= 600

6) A x 2o A 210-12 600,000 x10% = 6,000

7) TR EEA = 210-15 |700,000¢ x 53] = 3,500

8) 7ryu| A 210-15 |250,0009 % 48] = 1,000

9) o14=n) 210-15 |1,250,0009 x 28] = 2,500
AzATT S 50,000 50,000 0
A2 aS 50,000 50,000 0
1L AZAYEZZ IS 50,000 50,000 0

7} 258w 620-03 |2,500,0009 X 8= 20,000

U e 30,000

1) 29 620—03 |2,500,0009 X 8= 20,000

2) AF 620—10 |2,500,000¢ X 4= 10,000
s A8 A ale) A 1,370 1,370 0
ALY AP B2 1,370 1,370 0
\1 SR FA AR GA A 1,370 1,370 0

\ 7h. S A g X1 8k kg 1,370

\ 1) AAA Y FTE 210-01 |2,500€1 x 4007 = 1,000

2 FYed 210-06 80,0009 x 27 = 160

\ 3) 393 230-02 |15,0009 X7 x 28] = 210
AEEX] 2 3,761,213 3,356,380 404,833
By EE 58 204,000 204,000 0
58ty e 204,000 204,000 0
1. 933 g 849314 160,000 160,000 0

7h. 258w p- g v 140,000

1) 2538w 62003 |4,000,0009 X 2231 = 88,000

2) T8 52,000

7H 39 620—-03 |4,000,0009 X 93t = 36,000
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719 A& e A
AR s B Rt ety S) ks S R (k] - xd9)
gopzg 22| B3| 2% Aol %A REXE 20184 (A) | 2017H(B) | F7HA-B)
) A 620—10 |4,000,000¢ x 4 3= 16,000
L e e B A R 20,000
1) 58w 620-03 2,000,000 x73= 14,000
2) =8t 6,000
7H 9 620-03 [2,000,0009 x 23 = 4,000
) A 620—10 2,000,000 x 13.= 2,000
2. ERug gAY 44,000 44,000 0
7} 25w 620—03 [2,000,000¢ x 2231 = 44,000
2224 2,972,302 2,928,480 43,822
g7 =F A8 XY 2,972,302 2,928,480 43,822
1. ¥oJEFEF4 2,753,475 2,698,708 54,767
7F 29 620—03 |132,450,000¢= 132,450
U x538ky 620—03 |865,967,0009= 865,967
o}, =8ty 698,604
1) 29 620—03 |192,509,0009 = 192,509
2) AF 620—10 |506,095,000¢= 506,095
g2t 5y 1,056,454
1) 39 620—03 |656,662,0009= 656,662
2) A+ 620-10 399,792,00091= 399,792
2. A EALER Y 218,827 229,772 £A10,945
7F x4 620—03 10,399,000 = 10,399
L =58 620—03 |69,563,0009= 69,563
o}, =8k 56,398
1) 29 620—03 |16,975,0009= 16,975
2) AH 620-10 | 39,423,00091= 39,423
g2t 158w 82,467
1) 29 620—03 |51,332,0009= 51,332
2) AHY 620—10 |31,135,0009= 31,135
ol wSoANA 200,000 100,000 100,000
FoES TS EAN A Y 200,000 100,000 100,000
1. 322524 200,000 100,000 100,000
7F FAENFETEY 200,000

W — AHHAAYD - Fo] B R KRNI - Fo| &S EA 3}

A

o,

17




18 AEZHEW A
)
Abd ] < A5 AEUS 2018€(A) | 20174 (B) (A-B)
D) rhe w549 40,000
7hH &g 1Y 620—-03 400,000€ X 1008= 40,000
2) ndSHFsA= 10,000
7hH 8= 210-01 46,0009 x10%F X103 = 4,600
) An) 210-04 |8,000¢1 %30 x53]= 1,200
th 2F A= 210-07 | 600,000¢ X 2t X 13]= 1,200
2h) AR (L) 3,000
(1) 71& 210-06 | 100,000€ X107 x 23] = 2,000
(2) =3} 210-06 50,0009l X107 x 2| k= 1,000
3) sgEole) e 143,200
7hH 9 8% 210—12 |338,0009 X50% x 23] = 33,800
) Aln] 310-01 8,000€ X 1007 x 123 = 9,600
th) Ak (AR 210-06 |50,0009 x 257 x 243 = 30,000
2h) AR (4R 20,000
() NNE 210-06 100,000 X107 x 153]= 15,000
2) =3 210-06 50,0009 X 107 X 10A]7k= 5,000
ul) A ulSE=A 1Y 210-12 |490,000¢ X 20%= 9,800
b #3158 w Sole] 2 9 40,000
(1) &9 620-03 2,000,0009 x 10% = 20,000
(2) A+ 620-10 |2,000,000€ x 10¥ = 20,000
4) k=g EAd 6,800
7hH &9 8F 210-01 [59,0009 X 10%x103]= 5,900
) o3 230-02 15,0009 X107 X 63 = 900
ISEZ S 119,018 123,900 A4,882
AR Q 119,018 123,900 24,882
. ZSEXSHAXER Y 119,018 123,900 24,882
7} W& EA S8t w A Y 114,018
1) 258w 620-03 |44,200,0009 x 1= 44,200
2) AHE 620-10 |69,818,0009 x 17= 69,818
U 58] 944 A 5,000
1) WEEA) ALY 993 1,500
7hH £9 8% 210—01 |10,0009 x20%= 200

18




718 AE A5 A
71389 Ae R ERtnSA 9 (k9] - A 9)
RofRE ?}Z; ?}2 ﬂz ALRE 2-Ae Az o 20184 (A) | 20174 (B) | 374 (A-B)
) 2= A =k 210—-01 10,0009 x 20%-= 200
oh) FA 5o 210-06 |80,000¢ x5 x 28] = 800
2h) 9] 3 230—-02 15,0009 x 10 x 23] = 300
2) W5EA TEAY &Y 2,348
71 9 8% 210-01 |10,0009 X 10%= 100
) Ak (AR 400
(1) 7]% 210-06 |100,000¢1 x 2% = 200
2) =3 210-06 |50,000¢) X 27 X 2A] 7k= 200
) dug 210—-01 |14,0004€1 X 37 X 4A]7k= 168
2} AlH) 310-01 |8,000¢1x20™ x93]= 1,440
u}) 7FAN) 310-01 |3,000€ x 207 x 48] = 240
3) FoAEAAT LY 1,152
71 ZAAFE R (AR 600
(1) 71 210—-06 |100,000¢ x 3= 300
(2) =3 210—-06 |50,0004l X 31 X 24 7k= 300
W du= 210-01 |14,000¢) X 30} X 6A] 7k= 252
oh) 21H] 310—-01 |8,0009 X109 x 38 = 210
2h) 7FAn) 310-01 |3,000€ %107 x 38| = 90
AFAR L 265,893 0 265,893
s P ] 265,893 0 265,893
1. x5ty g B FAZ A 143,610 0 143,610
7t 258w 620-03 [143,610,0009= 143,610
2. 287 W HA FAFA] 122,283 0 122,283
7). ZElEsk 620—-03 |38,028,0009= 38,028
U A Eskw 620—10 |84,255,0009= 84,255
RA/FA/ASES 480,912 56,259 424,653
HAAT 6,511 6,311 200
SR AR 1,476 1,276 200
1. RATEHY LY 1,476 1,276 200
7}, RA WA S 1.376
1) $dgx 210-01 |10,000¢) X 5% x 48] = 200
2 dug 210-01 |14,0009 X 3v] x 84| 7k= 336

19




A

wl

o]

i

2018 (A)

20174 (B)

2%

o

3,000 X 20 X 43]=

100,000 X 174 x4 3] =
50,0009 X 17 X 4 A 7k=
10,0009 X 10%F=

240
600
400
200
100
5,035

5,035

210-01
210-01

210-06
230-02
310-01

10,0009 X 4 x 23] =
10,000€ x 34 3] =

80,0009 X114 x 43| =
15,0009 X 15 x 33]=
8,000¢ X154 x43]=

420

420

80

340
4,615
4,615
3,520
675
420
456,446

420

4,615

31,993

424,453

3,343

2,634

709

oft
e,
)

N
~—

P X

>,
o
bV
vy
o
o2

d

1
ol i
o
Bl oy

~

210-01
210-01
210-04

210-06
210-06

210-01
310-01

10,0004l X 5% x 33| =
14,000€ x 30§ X 6] 7k=
3,0009 X409 x 33]=

100,000 X 17 x 33]=
50,000¢1 X 174 X 3A| 3k=

131,000 X 1E=
50,0009 X 20 X 23] =

3,343
1,212
150
252
360
450
300
150
2,131
131
2,000
32,028

2,634

29,359

709

2,669

620—-03

2,669,0009 x 12t =

32,028
32,028

29,359

2,669

421,075

421,075
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713y AgE e Rt S Y (2] = 9
| [e) A=}
Bop By 32‘;‘ ?};3 fg RN o= RS 20189 (A) | 20179 (B) | Z7(A-B)
1. g4 7| FELA LA EZF 421,075 0 421,075
7} G A 7 A 224,260
1) 253w (101) 620—04 |70,673,000¢= 70,673
2) =8t 17,564
7hH ¥ (1) 620—04 |2,117,0009= 2,117
) A (1) 620—11 |15,447,0009= 15,447
3) 15stw (1) 620—04 |136,023,0009= 136,023
L w2 A A A st 196,815
1) WA A= 196,815
7H A Am] 420-02 |182,020,0009 X 5.620%= 10,229
L) Al 182,020
(1) #FAN 420-03 |17,390,0009 x 24 = 34,780
(2) A= 420-03 |1,636,0009 X 90m'= 147,240
) 7)) 420-04 |182,020,0009 X 1.757%= 3,198
Zh) Al K n] 420-05 |182,020,0009 X0.752%= 1,368
ZrEASU 3NS5 17,955 17,955 0
A& 3= L 17,955 17,955 0
1. AZF2d A3 35 3,600 3,600 0
7h A= adAS ) 3 3.600
1) 470 310—01 |300,0009 x68= 1,800
2) A5 310-01 |100,0009 % 18™ = 1,800
2. 71 A1 S 3 14,355 14,355 0
7F. w57 al ol 2] 3,000
1) §4d 3] 3,000
7 S 8= 210-01 |40,0009 x23%F= 920
Lp) AlghZ=tk 210-06 [40,000€l x 157 = 600
o} & o3 230-02 |15,0009 X407 = 600
2} 2] 310-01 18,0009 x40 x 23] = 640
u}) 7HAH) 310-01 |3,000€ x40 x 28] = 240
U}, 37kl ol 8] 5.000
1) S/t 3] 5,000
7H 2o 8= 210-01 [40,0009 x20%= 800
B - fOREFERE - HA/FA/AGEE - ASAGNIEE - A5IA
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WSA A (k9] : x4
3 NERE oAz RER 201849(A) | 20179 (B) | Z%(A-B)
M| AR ) T B b h i
) xperelxE 210-07 400,000¢ x 3= 1,200
th) 214 310-01 18,0009 x 1007 x 28] = 1,600
b 7+2n) 310-01 13,0009 X100 X 23] = 600
ul) <uhy) 310—-01 40,0009 X104 x 2= 800
ERTROE KR 1,200
1) 98 210-01 30,0009 x 20%= 600
2) 893 230-02 15,0009 x 407 = 600
2h, oS 7} shat el o 5 5,155
1) $98¢= 210-01 40,0009 x 18%= 720
2) AFEn) 210-01 |100,000¢ X108 = 1,000
3) 2H] 210-04 8,0009 x 280 = 2,240
4) Aarg 600
7H 71& 210-06 [40,0009 x10%4= 400
) z3 210-06 |20,0009 x10™ = 200
5) AlAddxtw 210-07 |595,0009= 595
=) 18,319,165 18,741,468 £422,303
AR A K| 6,293,041 6,664,919 A371,878
5l w99 u) =Y 6,293,041 6,664,919 A3871,878
\1, st 7| B8] 6,293,041 6,568,564 A275,523
\ 7F x4 620—02 |908,097,000¢= 908,097
EREES 620-02 4,016,417,00091= 4,016,417
\ t} S8k 620—-02 |1,368,527,0009= 1,368,527
AYEHA A =) Y 7,026,124 7,076,549 A50,425
A AH| A A A TR Y 5,925,587 5,923,213 2,374
1. AAN AR AT 5,925,587 5,923,213 2,374
7). ol AR A Y 620-08 5,925,587,0009= 5,925,587
LR AR AR Y 1,100,537 1,153,336 A52,799
SHuAFETRF 1,100,537 1,153,336 252,799
7}, st 7] E-8-93n) 620-09 |1,100,537,0009= 1,100,537
IS ANAAA 6,460,907 4,713,914 1,746,993
S8 N AR A 6,460,907 4,493,492 1,967,415
\zﬂj_z\] AaSIAMNA 6,460,907 4,493,492 1,967,415

LA AN L - wEBFNAA L - SuALdn S SN 29




71389 Ae R ERtnSA 9 (2] = 9
74 o) 1=
gopzg 22| B3| 2% AR %A% AU 2018 (A) | 2017d(B) | Z7HA-B)

1. ZAg A 1,578,956 1,201,975 376,981
7}, wper 366,601
1) A1AH] 363,900
7hH WAk 420-03 |11,300,0009 x 122 = 135,600
W) Az 420-03 [11,300,000¢9 x 64 = 67,800
o) F-3kF 420-03 |16,050,0009 x 102 = 160,500
2) Ao 420-05 375,200,000 X 0.72%= 2,701
[ 312,840
1) A1AH] 312,840
7H X% 420-03 [8,690,0009 x 104 = 86,900
W g5 420-03 [8,690,0009 X102 = 86,900
o Fobdx 420-03 8,690,000¢ x 641 = 52,140
Z}) FekAld 420-03 |8,690,00091 X 102 = 86,900
ot Q) F- 5 WA 185,560
1) AAn] 420-02 |172,710,0009 X 6.72%= 11,606
2) Al/dn] 172,710
7H 89 x5 420-03 [16,670,0009 x 34 = 50,010
) Foka (53 420-03 120,450,000 x 64 = 122,700
3) Al E ] 420-05 |172,710,0009 X0.72%= 1,244
2t e A 23,430
1) A1AH] 23,430
7hH WAz 420-03 [2,130,0009 x114= 23,430
vk E9 43,030
1) A4 43,030
7H Aztx 420-03 13,310,000 x 24 = 6,620
) HARE 420-03 |3,310,000¢1 x 114 = 36,410
HE, QE W 4= 221,204
1) A1AH] 219,868
7H F-]tsx 420-03 |11,572,0009 x 124 = 138,864
L) Fotx 420-03 |11,572,0009 x 34 = 34,716
o HeEFA4A 420-03 [11,572,0009 x4 = 46,288
2) A5 420-05 | 185,499,000€ X0.72%= 1,336

FoluzFEaS — staagola)

AAAE - &8RN AN E - A E S A

23




B8 AEZ =Y A
7139 - AgE R SX] Y G
o) 1=
gopzg 22| B3| 2% Aol %A% e N 2018 (A) | 20179(®B) | F7HA-B)
AL 198,240
1) A4 198,240
7hH WAz (W5) 420-03 |3,010,0009 x 274 = 81,270
) AR (9] 420-03 |530,0009 x 274 = 14,310
oh) Heobx (3 ) 420-03 |3,010,00091 x 114= 33,110
oh) FbE(FE 8 420-03 |530,0009 x 114 = 5,830
uh) == (W) 420-03 13,010,0009 x 184 = 54,180
v S =S () 420-03 |530,0009 X 184 = 9,540
o}, A% 209,701
1) AAn] 420-02 192,140,000 X 8.42%= 16,178
2) A17dn] 192,140
7hH Az 420-03 |14,780,0009 x 124 = 177,360
L) Fotx 420-03 |14,780,0009 X 14 = 14,780
3) Al F-ofv] 420-05 |192,140,0009 X 0.72%= 1,383
PANE P 18,350
1) A1AH] 18,350
7P e EA 420-03 3,670,000 x 22 = 7,340
W) H4h%x 420-03 |3,670,0009 x 32 = 11,010
2. FFAENA 20,000 0 20,000
7h. vl A 20,000
1) A1AH] 20,000
7hH FetEx 420-03 |10,000,000¢ x 14 = 10,000
) ®AbE 420-03 10,000,000¢ x 14 = 10,000
3.9 - YA A A A 734,021 825,538 A91,517
7Fo9 - G A A A 734,021
1) A AH] 420-02 |695,490,0009 X 4.91%= 34,149
2) A]Adn] 695,490
7hH Ao EFHY 420-03 |7,170,000€1 x 134 = 93,210
) Aslx 420-03 |7,170,0009 x 82 = 57,360
o) Axx 420-03 |7,170,0009 x 104 = 71,700
) Tz 420-03 |7,170,0009 x 152 = 107,550
up) FAE 420-03 |7,170,0009 x 841 = 57,360
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7187 - AR R Qw2 A (F - 1Y)
74 o) 1=
gopzg 22| B3| 2% Aol %A% e N 2018 (A) | 20179(®B) | F7HA-B)

upb) WAk 420-03 |7,170,0009 x 244 = 172,080

AP WAz 420-03 |7.170,0009 x 321 = 21,510

o) A= 420-03 |7,170,0009 x 164 = 114,720

3) Al -t v] 420-05 |695,490,0009 X 0.63%= 4,382

4, A A ANA 1,849,445 1,412,733 436,712

VA S EAR-RA S 645,774
1) A4 645,774
7hH AEx 420-03 [129,0009 X 550m'= 70,950

) 3lekx 420-03 |129,0009 X 1,396m'= 180,084

b A= 420-03 |129,000€ X 560m'= 72,240

2h) oA 420-03 |129,0009 X 2,500m'= 322,500

15 Rt s e 51,744
1) FRbAd 420-01 |4,0009 % 163m'= 652
2) A= 420-01 |4,0009 x1,386m'= 5,544
3) FA=E 420-01 |4,00091 % 120m'= 480
4) A= 420-01 |4,0009 x1,840m'= 7,360
5) F-ek= 420—-01 [4,0009 X591 m'= 2,364
6) Hor= 420-01 |4,00091%1,804m'= 7,216
7) XX 420-01 [4,0009 x856m'= 3,424
8) AAlx 420-01 [4,0009x1,232m'= 4,928
9) Y= 420—01 [4,000€ % 1,440m'= 5,760
10) 9A % 420-01 |4,0009%2,101m'= 8,404
11) ¥Ex 420-01 |4,0009 % 1,403m'= 5,612
ot s A 13,800
1) A1AH] 13,800
7H A= 420-03 16,900,0009 X 27 A= 13,800

2f, (A ) A 1,138,127
1) A A 420-02 |1,085,170,0009 X 4.52%= 49,050
2) A1Adn] 1,085,170
7h HF-qtx 420-03 |9,460,000¢ x 1.5%1 = 14,190

W Bk (H4S) 420-03 |11,470,0009 x 44 = 45,880

o) M= 420-03 19,460,0009 x 12.54 = 118,250

FOPLEFELF — LIl A

ol

Al = PN AAE - A WS FE AN
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71 AEZEY A
71389 Ae R ERtnSA 9 (el - dd
Z o) 1=
gopzg 22| B3| 2% Aol %A% Az 2018 (A) | 20179(®B) | F7HA-B)
b &A= (HA ) 420-03 |11,470,0009 x 34 = 34,410
up) WARZ 420-03 19,460,0009 x 174 = 160,820
vl WAL (F A=) 420-03 [11,470,0009 x 104 = 114,700
Ab) FAx 420-03 19,460,000 x 144 = 132,440
o) FA xR (H4FH 420-03 |11,470,0009 x 1424 = 160,580
) HAaAE 420-03 |9,460,0009 x84 = 75,680
21 AXx(H4E) 420-03 [11,470,0009 x 104 = 114,700
7hH Az 420—03 ]9,460,0009 X104 = 94,600
B deESFx4 420-03 19,460,000 x 24 = 18,920
3) Al F-of 8] 420-05 |1,085,170,0009 X 0.36%= 3,907
5. RSN 361,939 156,069 205,870
= 49,742
1) A1AH] 49,742
7 Fek= 420-03 1323,000¢ X 154m= 49,742
L = 50,600
1) A1AH] 50,600
7hH MEx 420-03 |253,000€ X 200m'= 50,600
= 30,094
1) A1AH] 30,094
7h %Ei 420-03 |82,0009 X 367 m'= 30,094
g < S| 41,340
1) /‘Vé-ﬂ] 41,340
7H =Xz 420-03 |1,590,000¢ X 26m= 41,340
vb, Sl A (59)) 172,511
1) A4dH] 172,511
7h F-<QrAL 420-03 |167,0009 x1,033m= 172,511
vk S 15,000
1) A1AH] 15,000
7h) WME % 420-03 |15,000,0009 x 12] = 15,000
Ab A B 420—05 |368,318,0009 X 0.72%= 2,652
6. A7IAAMNA 754,126 281,371 472,755
7} 2 A1 (LED) 364,282

AN — AGBANAANE — SuAHd wSegd4A
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et s PR (k9] - A 9)
o 1=]

FP N I NERE B % RESE 2018W(A) | 20179(B) | 274 (A-B)
1) AAH] 420-02 |349,800,0009 x 3.51%= 12,278
2) Al 349,800

7hH A EFH Y 420-03 |2,650,0009 x 1541 = 39,750
W) Agx 420-03 |2,650,0009 X174 = 45,050
o) Axx 420-03 12,650,000€ x 104 = 26,500
) wAax 420-03 |2,650,0009 x 52 = 13,250
uh) FARE 420-03 12,650,000 x 164 = 42,400
Hh) WA R (FA &) 420-03 |2,650,000¢ X 641 = 15,900
Ap) WALz 420-03 |2,650,0009 x 2941 = 76,850
o}) =X (&AL 420-03 |2,650,000¢ X 421 = 10,600
21 BhA FE (TEA ) 420-03 |2,650,0009 x 32 = 7,950
2}) sk = 420-03 |2,650,000¢ X 12.5% = 33,125
7h) F-oka 420-03 |2,650,0009 % 14.5% = 38,425
3) A AR 8] 420-05 |349,800,000¢ X 0.63%= 2,204
v A7 &5 15,000
1) AW 15,000
7hH WHAFR 420—-03 [15,000,0009 x 14 = 15,000
o Ay A A 374,844
1) AAm 420-02 |360,000,0009 X 3.51%= 12,636
2) A|AlH| 360,000
7hH 2% 420-03 |50,000,0009 x 1 %= 50,000
) AAlx 420-03 |50,000,000¢] X 15= 50,000
th) etz 420-03 60,000,000 x 1 %= 60,000
th) A¥Xx 420-03 |50,000,000¢] X 15 = 50,000
uh) Holsx 420-03 |50,000,0009 X 1%E= 50,000
v o= 420-03 |50,000,0009 x 1 %= 50,000
Ap) ol 420-03 |50,000,0009 x 1%= 50,000
3) AJ A ojn] 420-05 |360,000,0009 X 0.613334%= 2,208

7. 3AANA 692,476 588,606 103,870

7}, 3 A | A 692,476
1) AAH] 420-02 |656,110,0009 x4.91%= 32,215
2) A|AlH] 656,110

W = St FAANAAE - WS BANIAE - AL SN
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718 AEFEWSA
719 AR et S A A% (5] )
gopzg 22| B3| 2% Aol %A% e N 2018 (A) | 20179(®B) | F7HA-B)
7h Btz (A 420-03 82,790,000 x 1= 82,790
) ddx 420-03 |82,790,0009 x 14 = 82,790
oh) F-ba (A 420-03 82,790,000 x 14 = 82,790
2h) S XAFAF L (F7]SAD 420-03 |82,790,000¢) x 24 = 165,580
uph) F-Qba ($3-5) 420-03 |121,080,0009 x 221 = 242,160
3) Al 2] 420-05 |656,110,000€ X 0.632668%= 4,151
8. LA SA (A1) 467,900 0 467,900
7}, vt 135,600
1) A]An] 135,600
7 Forel 620—11 |11,300,0009 x 1241 = 135,600
B 86,900
1) A]AH] 86,900
7 WAk 620-11 |8,690,0009 x 104 = 86,900
o} 9] R3S A 245,400
1) A A 245,400
7h F-Qko 5 (o]53) 620-11 |20,450,0009 x 122 = 245,400
9. AJAeHA AN (AH) 2,044 15,840 A13,796
7h. A 2,044
1) A= 420-01 |4,0009x511m'= 2,044
RIS 1,467,350 2,764,392 21,297,042
A3 A ul 1,090,037 1,140,956 250,919
A5 A7) A 6,140 6,140 0
AR A7) 3 7 2,800 2,800 0
1. FoYFAY+HFA 2,800 2,800 0
7V FRAFA LT 210-01 |6,000€ X 200%-= 1,200
L Pty s 1,600
1) $9e= 210-01 |20,0009) x 30%= 600
2) A2 A = 210-01 10,0009 X 100%= 1,000
PO RE ) 3,340 3,340 0
1. 7S HAIY A B 2,120 2,120 0
7h S AL HE H 9 A 3] 2,120
1) $9e= 210-01 30,0009 x3%= 90
W - BEYW - n PN - w5 F A7 0y - deuS Py 28




7187 - A et a S A 9 (3] - H )
Z] 20 [$) H
gopzg 22| B3| 2% ESIE SRR A2 2018\(A) | 20179 (B) | Z7(A-B)
2) ZA ) 210—-06 |80,000¢ x 8™ x 23] = 1,280
3) on] 210-06 10,0009 x 8% x 23] = 160
4) o) 3 230—-02 |15,0009 x99 x 23] = 270
5) 21H] 310-01 8,000 X104 x 43]= 320
2. L&A AR LSHIA 2 1,220 1,220 0
b L&A R 1,220
1) e84 210-01 |20,0004l X 6% = 120
2) A=A 2 210-01 |10,0009 x 35%= 350
3) g9l 3 230-02 |15,00091 %107 X 53] = 750
AEFHTHE 6,500 6,500 0
AEYAZTH 6,500 6,500 0
1. S FR P EAT 6,500 6,500 0
7}, FQE S a2 A 7k 6,500
1) s A= 210-01 |3,50091 X 700% < 23] = 4,900
2) SHQF 210-02 6509 X 400+ % 28] = 520
3) AESY 210-06 [40,0009 X3 x63]= 720
4) o) 3 230—-02 |15,000€ X6 x 48] = 360
ZHA 3,431 3,125 306
FATNEU Y 3,431 3,125 306
1. AAZAY 795 825 A30
7}, A e =) 250-04 |5,0009 X34 x533] = 795
2. Bujub< L =) F o] A 7} 3} 2,636 2,300 336
7h A sotew g 500
1) 98 210-01 |20,0004l X 25%= 500
o Ag s 2136
1) 98 210-01 |10,000€ X 5% x 48] = 200
2) A=A 2 210-01 |10,0009 X 60%-= 600
3) 91w 210-01 |14,000¢) X 30} x 8A] 7k= 336
4) A (dRh) 1,000
71 7] 210-06 |160,000€ X 1 x 43]= 640
) %3 210-06 [90,000€ X 17 X 4A]7k= 360
71837} 2,000 0 2,000
WH - WFAR - wFFPY AN — 7] P}
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71838 A4S WA
7187 - AR R Qw2 A (F - 1Y)
2 o 1=]
gopzg 22| B3| 2% NERTE = SENL 20189 (A) | 2017H(B) | 24 (A-B)
71 &% 7} 2,000 0 2,000
1. 2537 AF 7ML AL 2,000 0 2,000
7 w5 A A H ) 2,000
1) ZAHAF7HA G M A58 3E 500
7H A8 A 2 210-01 [5,0009 X50%-x23]= 500
2) A 7He] 32 1,500
7hH 9 8% 210-01 |20,0009 X 15% x43]= 1,200
) & o3 230-02 15,0009 x10% x 23] = 300
TSP FA 16,600 14,400 2,200
PAMAEER L 16,600 14,400 2,200
1. 2P A IE3 3} 16,600 14,400 2,200
7F A9 210—-01 20,0009 x50 = 1,000
u}, 8w 2 o 8] 1,200
1) $98= 210-01 20,0009 X 30%= 600
2) AFEn) 210—-01 |200,000¢] x 3% = 600
o} QA 14,400
1) AFE (EA) 430—-01 900,000 X 16t = 14,400
A5PH A E 3} 8,237 22,237 214,000
TEFAA LA AE L 8,237 22,237 A14,000
LA ALLY 7,577 21,577 A14,000
7h A IS A - 6,000
1) AALEZ9UpPCSe 210—15 |50,0009 X 10% X 538] = 2,500
2) LCDZ =4 430-01 2,000,000 x 1th= 2,000
3) YAt 430-01 |650,0009 < 1th= 650
4) ZAE (A3) 430-01 |850,0009) x 1t}= 850
L AR R 1,577
1) H/WHA B35 210-09 |19,705,0004 x 8%= 1,577
2. E¥ 0] X 2l 660 660 0
7}, EHo] x| E el gl Aqn] A 210-01 |55,0009x12¢= 660
A H] A B L B el 980 760 220
H] At v A 2 Y B etk ¢ g 980 760 220
IR EE TR 200 200 0
W~ EEUN — BEW YA — vl A ek — vl A2 5w bk
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o)
?L};j ﬂ(ﬁ Aol B AE o 20189 (A) | 20179 (B)
7h At st 200
L 210-01 50,0009 x 4%= 200
2. A AF 780 560
7} Sl g E 210—-01 |50,000€ X 6% = 300
. 7+-411) 210-04 |3,0009 x 409 x 48] = 480
o AX 7] 1,290 45,754
o A 1,290 45,754
1. A E3 A A F3 1,290 1,290
7} o9 210-01 |20,0009 X 12%= ZE
U Aa Az 210-01 |10,0009 x 60%= 600
t}. & 9] 3 230-02 |15,0009 X 107 x 33]= 450
A= 33,963 33,051
T EANYEZHF 33,963 33,051
L3 RAATREY 9,720 9,720
7V AR NN SR 210-01 |800,0009 x108]= 8,000
U ZG A A2 0] 8] Al e 210-06 80,0009 x 47 x 23] = 640
o}, 39 3 230-02 |15,0009 x 127 x 23] = 360
g}, P FEn) 250-04 |60,0009 x 18 x 129 = 720
2. H AL EE 4,500 4,500
7). ¥ w e 210-09 |450,0009 x 108] = 4,500
3. A AAAGZA 31 19,743 18,831
7} A A A2 A 3] 1) 210-02 |19,743,0009 = 19,743
sl ] A 2 883,178 874,342
gl =] A 2 B 883,178 874,342
1. 288 Ax Y 780,180 813,530
7h. e AR WS 1,000
1) $dgx 210-01 20,0009 X 10 x 23] = 400
2) ZFAr e (YR 600
b 75 310—01 |100,000¢ x 27 x 23] = 400
W} %3 310-01 |50,0009 x 2 x 2A] 7k= 200
L E 8 A -] 191,655
D x4 620-03 |7.724,0009= 7,724

A — AN A& — sHgul A A 8
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)
A < LA & A= 20181 (A) | 201749 (B) (A-B)
2) 2=8kw (22T) 620-03 183,931,00091=
o} E s A
1) =3 (3491 430-01 |110,000,0009 x 1dj=
g}, AW A 27 (3]) 210-07 | 141,225,00091=
v}, oF A %] AFOl 7A H) 620—01 |14,000,000¢ x 239 =
v}, E8kolA %7 210-03 |50,0009 X 267 =
Ab S AT
1) ¥4x% 620-04 [13,000,0009=
2. 2324 60,812 42,186
7}, k<) 310-01 |180,0009 %2 x10¥=
U, BA 8] R (73) 620—03 |99,398,000¢ =
FoEgFel g 5,834 0
ZFal g 3ed g 5,834 0
1. stu g s &= 2,834 0
7h st Sl daS
1) $o99x 210-01 |25,3009 X 20%&=
2) A=A 2+ 210-01 |10,000€Q X 60%-=
3) 9w 210-01 |14,000€ X 31 X 44| 7k=
4) 393 230-02 15,0009 x 407 =
5) Ak (dnh)
7H 7)E 310-01 |100,000¢ x 27 =
W) =3 310-01 |50,000¢ x 27 X 1A 7k=
6) An) 310-01 |8,0009 x60™ =
7) 7+214) 310-01 |3,000€ x60™ =
2. RS wFAEA XA 3,000 0
ek EE SRR
1) A=A = 210-01 |10,0009Q X 40%-=
2) 91w 210-01 |14,000¢ x 31 X 44| 7h=
3) Lo98x 210-01 373,000 x 43] =
4) ZFAr (YR
7H 7)1E 310—01 |100,000¢ x 17 x 23] =
W) =3t 310-01 50,0009 X 18 X 2] 7k=
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EEFIuSA A (5] )
e Arguel o= RESE 2018€(A) | 2017€(B) | 27(A-B)
A | A B o e - - o

5) 2H] 310-01 18,0009 X407 x 23| = 640
AlAAL # 121,884 128,813 26,929
Al AL #E 121,884 128,813 £6,929
1. AEAI R A Y 121,884 128,813 26,929

7}, WA S %) 7] 109,588

1) 25A 210-09 89,864,0009= 89,864

2) A LA 210-13 18,960,0009= 18,960

3) A En) 420-05 |764,0009 = 764

U 7% 88t u Al A4 e 7,296

1) Holar 210-13 |608,0009 x124= 7,296

o} Stw A A H S g 73R 620—04 |5,000,0009 X 13L= 5,000
#4973 377,313 1,623,436 21,246,123
71 8-$9) 367,113 353,830 13,283
TSR LY 367,113 353,830 13,283
1. 7| B 3220 27,840 27,400 440

7h 713729 73 27,840

1) 7129 F-F=%1H] 230-01 | 21,000,0009= 21,000

2) ALY FF201] 230-01 [40,0009 x51%9= 2,040

3) 7B FRA A G A FEZ=%1H] 250-02 |400,0009 x129= 4,800
2. 71 H-L I AN 182,130 203,150 221,020

7 BELERAA 55,438

1D AR R s e Eata=g 210-01 |180,000¢x13]= 180

2) A71e+F 210-02 2,480,000 x12¥= 29,760

3) A3eF 210-02 |1,260,0009 x 129 = 15,120

4) Q1 EYIZE AN 210-02 |400,0009 x124= 4,800

5 Astriaw 210-02 |150,0009 x 122 = 1,800

6) FHoH 210-02 |50,0009 x129= 600

7) AAs ARG 210-02 [178,0009 x 13]= 178

8) Al H) 210-02 |250,0009 x124= 3,000

. AAL g 70,960

1) HAFFA RS 210-09 2,500,0009 x 129 = 30,000

2) TBALSA K 210-09 |200,000¢ x 354 = 7,000

= 7| HF Y - VRG] - wHA L
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AR L2 — e 20184 (A) | 20174 (B)
3) #AFEA A 210-09 |200,000¢ x 154 = 3,000
4) et Py g A8 210-13 5,000,0009 x 13| = 5,000
5 AALY 210-13 [2,164,0009x12¢¥= 25,960
o A A B 10,008
1) A7) 210-09 |334,0009 x12¥= 4,008
2) vl dz] 210-09 |30,000€ x40t} = 1,200
3) AHIA| A SR K5 210-13 |160,0009 x12¥= 1,920
4) A7]rA T2 )8 210—13 [120,0009 x12¥= 1,440
5) 771 FA B 210-13 |120,0009 x12¥= 1,440
2. @A e 16,000
1) A 210-06 |50,0009 x 17 x 260 = 13,000
2) FelAn &4 210—-13 |250,0009 x12¥= 3,000
o} g2 e 15,044
1) ™3 %$ (25,000kme]’d) 210-10 |8,956,000¢ x 1= 8,956
2) 353 (10,000km™] ¥H) 210-10 |6,088,0009 x 1t]= 6,088
af. #ARA € 700
1) 22Ud&%7) 210-04 |7,0009 x50% x 28] = 700
b 2 nk-g-od A 4,380
1) Py B 210-01 |15,0009%x21F*x12¢¥= 3,780
2) ¥ &y 210-03 |200,0009 % 39 = 600
oF. A3 7] 4 9,600
1) ZHE (A) 430-01 |1,020,0009 x 1) = 1,020
2) &3k 430-01 |2,000,000¢ % 1t} = 2,000
3) B 430-01 |250,00091 x 10t} = 2,500
4) AF-go =} 430-01 |204,0009 x 207} = 4,080
3. 7B 2D 30,215
B E 30.215
1) 33 2TLANA .
7hH A7 QF 210-02 |650,0009 x 129 = 7,800
) Aste 210-02 |50,0009 x 129 = 600
th AslrEQ & 210-02 |100,0009 x12¥= 1,200
2h) A7 A R 210-02 80,0009 % 13]= 80
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7|88 AlE4E WA
ARty B = AR S A S R (k9] : x4
popng 3% | WA | AR SERE A% S SL 20184 (A) | 20174(B) | Z4(A-B)
Fol b | AR
ul) YA EZA B 210-02 15,0009 x 10t x12¥9= 1,800
oh) A7t " A8 210-13 [90,0009 x12¥= 1,080
AD) /\HM]@@@—’F—’FE 210—-13 |88,0009x12¢¥= 1,056
oh) AF7)|8A RS 210-15 |50,0009x12¢9= 600
2) @,iO}Og 2GS A K 210-09 [278,950€9 x203]= 5,579
3) T 8,860
7H sAFY 210-06 |50,0009 x 1349 = 6,700
) FeolAn g 210-13 |180,0009 x12¢9= 2,160
4) 7N 210—08 |5179X7AIZFx96% x 3= 1,040
5) oJH] 220-01 |20,0009 x 17 x 263] = 520
4, A 718297 126,928 101,580 25,348
7} SR A3 55,048
1) dxkedn] 6,608
7H FA G 210-01 |1,200,0009= 1,200
) el 210-01 [416,0009 x 139 = 5,408
2) ELu2ln) 210—-05 |8,0009 X137 x403]= 4,160
3) ofH] 36,480
7hH ) 220—01 |20,0009 X157 x563] = 16,830
) =4 220-01 |40,0009 X 15 x 243] = 14,400
) £9] 220-01 70,0009 x 15 X 53] = 5,250
4) FALFAFFH] 230-01 |350,00091 % 12¥= 4,200
5) AT =711 250-02 |100,0009 x1249= 1,200
6) EAAT AN 2,400
7hH BN ()G T T 250—03 60,0009 %1% x129= 720
W St (RHSERe)Gdad | 250-03 80,0009 X1 x129= 960
) SurA(AHFTARE) G | 250-03 60,0009 X138 x129= 720
L A A 71,880
1) dxkeedn] 12,016
7H FAG 210-01 |1,200,0009= 1,200
W) sfelgr 210-01 |416,000¢] x 26 = 10,816
2) Etujaln) 210-05 18,0009 %18 x313]= 4,464
3) ofH] 40,040
WS - WFYEE - 7 HEG A - 7SS9 - uS5H A
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7187 - A et a S A 9 (29 - A Q)
74 o) 1=
gopzg 22| B3| 2% Aol %A% e N 2018 (A) | 20179(®B) | F7HA-B)
7h ) 220-01 |20,000¢ x 267 x 273]= 14,040
) =4 220-01 |40,000€] X 26 x 183] = 18,720
) ©9) 220-01 |70,00091 X 267 x 43]= 7,280
4) F-AEG A FF%1H] 230-01 |350,0009 %129 = 4,200
5) AAFHFF71] 250—02 |100,0009 x12¢€= 1,200
6) 5445774 9,960
7h AArE g4 250-03 |80,00091 x 24 x 129 = 1,920
U}) S ul x| S 9] 250-03 |100,00091 x 1% x 129 = 1,200
b oatgd a4 250-03 |150,00091 X34 x 129 = 5,400
) IAEFFFL 250—03 60,0009 X2 x129= 1,440
&P BAA 10,200 1,269,606 A1,259,406
DA LH AL HE 10,200 1,269,606 21,259,406
1. AL AIA 10,200 1,269,606 A1,259,406
7} BARA e 210—09 300,000 x 344 t= 10,200
TE - S5UN - 7| A - BSFFTHAE - ZSA LY AL e
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